L ,Lo-data

L=( + )2 log =-0,35\-u ]

Lo=L /0,44 log  =-0,35L)-u ] =L /0,44 log  =-0,35u)-u ]

Lo, Lty Go, _Adaptation: A =570 , Ley Go, Adaptation: A =570
/ \Jy 29 570

] u,=(A - 550) / 502 \ uy=(A — 550) / 50
V =( Mo+ Lo)2 logV,=-0,35l)\—u V =( Mo+ Lo)2 log;=-0,35L)\-u
Vo=V /0,93 logL = —0,35\~Us7q Vo=V /0,93 logL o= —0,35l)\~Us7q
Vo,V , Lo Adaptation: A, =555 V-, Mg, Lo Adaptation: A, =555
" 570 570

. maximum
1 log(Vm)=-0,03|
Vmn=0,93
Threshold
0.5 =000 [T ~"""""""" 2

1 V¢=0,06

0,6+-3 -1 1 3 Uy
( 500 600 700 A/nm

Up=(A - 550) / 50

maximum maximum
log(L m)=-0,35 log(L m)=—0,35
Lm=0,44 L m=0,44
Threshold Threshold
t=0,00 [ T """ T T TTTTTTTTTTT T RE0N

1 3 Uy

700 A/nm

ur=(A = 550) / 50, Uy=(A - 550) / 50

=( +Lg)2 log: =-0,35L)\-u ]2 =( +Lg)2 log - =-0,35u)-u ]2
= +035 logL = —0,350y~Us7d = +035 logL = —0,35l)~Us7q
HeqBo |y Adaptation: A | =520 Nea Bol Adaptation: A (=520
570 570
1, . 2
maximum Ximum
1 log( m)=-0,35] 1 Iog m)— 0,35
m=0,44
Threshold Thre hold
0,5 / t,=0,00 ta—O ")
0,0r-3 -1 1 3 uy 3 u,\

700 A/nm

uy=(A — 550) / 502
= + )2 log =-0,35u)-u ]

700 A/nm

uy=(A - 550) / 502
log =-0,35L)\-u ]2

=:"+ 0,35 log =-0,35u\-u ] = +035 log =-0,35u\-u ]
' Ba Ro Adaptation: A =470 Adaptation: A =470
1, . .
maximum maximum
1 log( m)=—0,35]
m=0,44
Threshold Threshold
o 420,00 I 1:=0,00
0,6r-3

3 uy
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